
 

 

2017 Georgia Junior Classical League Latin Derivatives Examination (1002) 
 
Code for the exam (1002).  
 
I. Three out of four of the members of the following word lists contain the same Latin root. 
Select the word that contains a root that differs from the others (Notā bene: some of the odd 
words out do not contain Latin roots at all!).  
 
1. (a) tribulation (b) tribune (c) detritus (d) detriment 
2. (a) flurry (b) flush (c) influenza (d) affluence 
3. (a) salve (b) sage (c) savor (d) savior 
4. (a) pennant (b) penmanship (c) panache (d) penchant 
5. (a) symbolic (b) rebel (c) duelist (d) revel 
6. (a) tortoise (b) torso (c) torch (d) extortion 
7. (a) unconscionable (b) prescient (c) sciosophy (d) plebiscite 
8. (a) radical (b) radiant (c) ramification (d) radish 
9. (a) errand (b) erratic (c) error (d) aberration 
10. (a) apparition (b) postpartum (c) transparency (d) parentheses 
11. (a) peal (b) expiate (c) repulse (d) appellant 
12. (a) tempest (b) temperate (c) extemporaneous (d) contemporary 
13. (a) regalia (b) viceroy (c) regular (d) interregnum 
14. (a) vicissitudes (b) vice (c) vicar (d) vicariously 
15. (a) acquisition (b) prerequisite (c) exquisite (d) bequest 
16. (a) paramour (b) amatory (c) amateur (d) amorphous 
17. (a) unrequited (b) requiem (c) require (d) acquiesce 
18. (a) surface (b) faculty (c) facetious (c) facet 
19. (a) capacity (b) capillary (c) capsule (d) capable 
20. (a) jetty (b) easel (c) adjacent (d) uneasiness 
21. (a) syndicate  (b) judicial (c) indictment (d) addict 
22. (a) cognate (b) noel (c) renaissance (d) natant 
23. (a) matriculant (b) matrix (c) metronome (d) metropolis 
24. (a) investigate (b) travesty (c) invest (d) divestiture 
25. (a) abound (b) redundant (c) surround (d) rebound 
26. (a) ordain (b) ordinary (c) inordinate (d) primordial 
27. (a) literal (b) obliterate (c) literati (d) liter 
28. (a) presidency (b) obsession (c) sedative (d) sedulous 
29. (a) lateral (b) dilate (c) relationship (d) latent 
30. (a) amuse (b) usually (c) disabuse (d) utilities 
31. (a) magnet (b) maxim (c) majority (d) magnanimous 
32. (a) isolate (b) insolate (c) peninsula (d) insulate 



 

 

33. (a) penance (b) spend (c) pensioner (d) appendix 
34. (a) exigent (b) degenerate (c) engender (d) generous 
35. (a) annul (b) annuity (c) perennial (d) annals 
36. (a) noun (b) ignominious (c) economical (d) denominator 
37. (a) innocent (b) inoculate (c) innocuous (d) obnoxious 
38. (a) relevance (b) relieve (c) level (d) levantine  
39. (a) ingrate (b) gratify (c) grate (c) disagree 
40. (a) infer (b) suffer (c) fervor (d) referee 

 
II. What English word is derived from the given Latin word?  

 
41.  jugum (a) conjugal (b) juggle (c) juggernaut (d) conjugate 
42. cadere (a) recidivism (b) lucidity (c) cad (c) caduceus 
43. decem  (a) decay (b) decease (c) decisive (d) decimate 
44. legare (a) legend (b) allegiance (c) college (d) catalog  
45. manus (a) manifest (b) manifold (c) maniac (d) manger 
46. par  (a) disparage (b) apparently (c) parity (d) disparate 
47. rogare (a) castigate (b) abrogate (c) congregate (d) obligate 
48. salire (a) consult (b) salacious (c) salubrious (d) sultry 
49. capere  (a) disciple (b) municipal (c) reciprocal (d) precipice 
50. odium (a) annotated (b) nauseous (c) annoy (d) noise  
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1. b 
2. a 
3. c 
4. d 
5. a 
6. b 
7. c 
8. b 
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22. d 
23. c 
24. a 
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30. a 
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32. b 
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34. a 
35. a 
36. c 
37. b 
38. c 
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40. c 
41. d 
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46. a 

47. b 
48. b 
49. b 
50. c 


